g ASSEMBLY INSTRUCTIONS A

for Guard Rail
UNIVERSAL 4 IN 1 CONVERTIBLE CRIB
Model # 22295

\- /

90-22295-V-02 of 5



Tony Chen
Typewritten text
90-22295-V-02


Thank you for your purchase!

Remove all parts and hardware from the box and lay on a carpeted or scratch -free work surface.

Do not dispose of any contents until assembly is completed.
Familiarize yourself with all exhibits and diagrams to facilitate the assembly of your crib.

TOOLS REQUIRED:
ALLEN KEY (included)

4 PARTS ENCLOSED IN CARTON )
A. Guard Rail (1 pc)
o 4
4 HARDWARE )
(B) Allenbolt 2"(50 mm) (4 pcs) (D) Nut 3/4" (20mm) (4 pcs)
mD {
(C) Spring washer (4 pcs) (E) Allen key (2 pcs) (length may vary)
\- /

Do not fully tighten all bolts until all parts are in place.

(please add an extra 1/2 revolution to the bolts when using spring washer after tightening)

90-22295-V-02

20of5


Tony Chen
Typewritten text
90-22295-V-02


STEP 1 " UNINSTALL FOOTBOARD "
THIS STEP REQUIRES:

E. Allen key (1 pc)

=
P

Step 1: Remove Footboard by unscrewing (4pcs) AllenBolts as shown.

- /

90-22295-V-02 3 0of 5



Tony Chen
Typewritten text
90-22295-V-02


STEP 2" MATTRESS SUPPORT HEIGHT ADJUSTMENT "

THIS STEP REQUIRES:

These hardware are included in the CRIB
E. Allen key (2 pcs)

I {

ﬁ K. Allenbolt 1"(25mm) (4 pcs) L. Nut 3/4" (20mm) (4 pcs)

FIG.3.

| >< Lowest
position

- Remove the Allenbolt 1"(25 mm) (K) and Nut 3/4"(20 mm)(L) on the Mattress spring.
- Move Mattress spring to the lowest position as shown in FIG.2.
- Attach the Allenbolt 1"(25 mm)(K) and Nut 3/4"(20 mm)(L) on the

lowest hole of Sideboard.

\-Final position as shown in FIG.3. /

90-22295-V-02 4ofs



Tony Chen
Typewritten text
90-22295-V-02


STEP 3" ASSEMBLY OF GUARD RAIL"
THIS STEP REQUIRES :
E.Allen key (2 pcs)

Fe

(B) Allenbolt 2"(50 mm) (4 pcs) (C) Spring washer (4 pcs) (D) Nut 3/4" (20mm) (4 pcs)

[HD C {

4 N\

STEP 3

STEP 3
- Insert the Allenbolt 2"(50 mm) (B) & spring washer (C) through the top and bottom hole in the crib
sideboard and guardrail and connect with nut 3/4" (20 mm) (D).
Tighten all bolts and nuts with allenkey (E). Assembly complete. Thanks You!

. /

90-22295-V-02 5 of 5



Tony Chen
Typewritten text
90-22295-V-02


“CAUTION: ANY MATTRESS USED IN THIS

CRIB MUST BE AT LEAST 27 1/4 INCHES (69 CM)
BY 51 5/8 INCHES (131 CM) WITH A THICKNESS
NOT EXCEEDING 6 INCHES (15 CM). THE
DIMENSIONS OF THE MATTRESS SHALL BE
TAKEN FROM SEAM TO SEAM OR EDGE TO
EDGE WHERE APPROPRIATE.

/\ WARNING!

FOR TODDLER BED USE

* READ ALL INSTRUCTIONS BEFORE ASSEMBLING TODDLER BED.
KEEP INSTRUCTIONS FOR FUTURE USE.

* FAILURE TO FOLLOW THESE WARNINGS AND THE ASSEMBLY INSTRUCTIONS COULD RESULT IN SERIOUS
INJURY OR DEATH FROM ENTRAPMENT OR STRANGULATION.

* CAUTION: THE MATTRESS INTENDED FOR USE ON THE BED SHALL BE A FULL-SIZE CRIB MATTRESS HAVING
MINIMUM DIMENSION OF 51 5/8 INCHES (1310 MM) IN LENGTH AND 27 1/4 INCHES (690 MM) IN WIDTH AND
NOT EXCEEDING 6 INCHES (150 MM) IN THICKNESS. THE DIMENSION OF THE MATTRESS SHALL BE TAKEN
FROM SEAM TO SEAM OR EDGE TO EDGE WHERE APPROPRIATE.

* THE MINIMUM AGE OF THE INTENDED USER SHALL NOT BE LESS THAN 15 MONTHS AND THE MAXIMUM
WEIGHT SHALL NOT BE GREATER THAN 50 LB (22.7 KG).

* GUARDRAIL (SOLD SEPARATELY) MUST BE USED WHEN CRIB USED AS A TODDLER BED TO AVOID THE
FORMATION OF A GAP BETWEEN THE MATTRESS AND THE BED THAT COULD CAUSE AN ENTRAPMENT.

+ DO NOT PLACE BED NEAR WINDOWS WHERE CORDS FROM BLINDS OR DRAPES MAY STRANGLE A CHILD.

+ DO NOT PLACE ITEMS WITH A STRING, CORD, OR RIBBON AROUND A CHILD'S NECK, SUCH AS HOOD
STRINGS OR PACIFIER CORDS.

+ DO NOT SUSPEND STRINGS OVER A TODDLER BED FOR ANY REASON.

* WHEN STORING TODDLER BED USE CAUTION AS EXTREME CHANGE IN TEMPERATURE OR HUMIDITY CAN
COMPROMISE THE TODDLER BED MAKING IT EXTREMELY DANGEROUS TO YOUR CHILD. STORE THE
TODDLER BED IN A CLEAN DRY PLACE.

+ USE CAUTION WHEN A VAPORIZER OR HUMIDIFIER IS IN USE. ALWAYS AIM VAPOR AWAY FROM THE
TODDLER BED AS WELL AS ANY OTHER WOODEN FURNITURE. PROLONGED PERIODS OF HUMIDITY IN
STORAGE AS WELL AS THE HOME CAN COMPROMISE THE TODDLER BED.

+ AVOID USING VAPORIZERS AND HUMIDIFIER FOR PROLONGED PERIODS OF TIME.

* PLEASE DISPOSE ALL PACKAGING AND PLASTIC BAGS.

+ PLEASE CLEAN THE TODDLER BED WITH A DRY CLOTH AND USE MILD WOOD POLISH IF REQUIRED.

* PREVENT BURNS. KEEP BED AWAY FROM OPEN FIRES AND OTHER HEAT SOURCES.

* CHECK THIS PRODUCT FOR DAMAGED HARDWARE, LOOSE JOINTS, LOOSE BOLTS OR OTHER FASTENERS,
MISSING PARTS OR SHARP EDGES BEFORE AND AFTER ASSEMBLY AND FREQUENTLY DURING USE.
SECURELY TIGHTEN LOOSE BOLTS AND OTHER FASTENERS. DO NOT USE CRIB IF ANY PARTS ARE
MISSING, DAMAGED OR BROKEN. CONTACT M DESIGN VILLAGE , 701 COTTONTAIL LANE, SOMERSET, NJ 08873;
PHONE: 1-844-247-5908; EMAIL: INFO@MDESIGNVILLAGE.COM FOR REPLACEMENT PARTS AND
INSTRUCTIONAL LITERATURE IF NEEDED. DO NOT SUBSTITUTE PARTS.




WARNING ENTRAPMENT/STRANGULATION
HAZARD

* INFANTS HAVE DIED IN TODDLER BEDS FROM ENTRAPMENT AND STRANGULATION.

* FAILURE TO FOLLOW THESE WARNINGS AND THE ASSEMBLY INSTRUCTIONS COULD RESULT IN SERIOUS
INJURY OR DEATH.

* NEVER USE BED WITH CHILDREN UNDER 15 MONTHS.

* NEVER PLACE BED NEAR WINDOWS WHERE CORDS FROM BLINDS OR DRAPES MAY STRANGLE A CHILD.

WARNING

INFANTS HAVE DIED IN TODDLER BEDS FROM ENTRAPMENT.

« OPENINGS IN AND BETWEEN BED PARTS CAN ENTRAP HEAD AND NECK OF A
SMALL CHILD.

* NEVER USE BED WITH CHILDREN YOUNGER THAN 15 MONTHS.

*ONLY USE FULL-SIZE CRIB MATTRESS OF THE RECOMMENDED SIZE,

* ALWAYS FOLLOW ASSEMBLY INSTRUCTIONS.

AWARNING

STRANGULATION HAZARD
* NEVER PLACE BED NEAR WINDOWS WHERE CORDS FROM BLINDS OR DRAPES
MAY STRANGLE A CHILD.
* NEVER SUSPEND STRINGS OVER BED.
* NEVER PLACE ITEMS WITH A STRING, CORD, OR RIBBON, SUCH AS HOOD
STRINGS OR PACIFIER CORDS, AROUND A CHILD'S NECK. THESE ITEMS MAY
CATCH ON BED PARTS




g INSTRUCTIONS DE MONTAGE A

pour garde-corps
LIT D'/ENFANT UNIVERSAL CONVERTIBLE 4 EN 1
Modele n® 22295

\- /

90-22295-V-02 1surb



Tony Chen
Typewritten text
90-22295-V-02

Tony Chen
Typewritten text
1 sur 5


Merci pour votre achat !

Retirez toutes les piéces et le matériel de la boite et poser sur une surface de travail recouverte de moquette ou sans
rayures.

Ne jetez aucun contenu avant la fin du montage.
Familiarisez-vous avec toutes les piéces et les schémas pour faciliter le montage de votre lit d'enfant.

OUTILS NECESSAIRES:
CLE ALLEN (Inclus)

PIECES INCLUSES DANS LE CARTON
A. Garde-corps (1 piéce)

/

MATERIEL
(B) Boulon Allen 2" (50 mm) (4 pieces) (D) Ecrou 3/4 " (20 mm) (4 piéces)
[HD {
(C) Rondelle a ressort (4 pieces) (E) Clé Allen (2 pieces) (la longueur peut varier)

- /

Ne serrez pas completement tous les boulons avant que toutes les piéces ne soient en place.
(veuillez ajouter un 1/2 tour supplémentaire aux boulons lors de I'utilisation de rondelle a ressort aprés le serrage)

90-22295-V-02 2sur5


Tony Chen
Typewritten text
2 sur 5

Tony Chen
Typewritten text
90-22295-V-02


ETAPE 1 "DESINSTALLER LE PIED DE LIT"

CETTE ETAPE EXIGE:

E. Clé Allen (1 piece)

e
P

Etape 1: Retirez le pied de lit en dévissant les boulons Allen (4 piéces) comme indiqué.

- /

90-22295-V-02 3surb



Tony Chen
Typewritten text
90-22295-V-02

Tony Chen
Typewritten text
3 sur 5


ETAPE 2 "AJUSTEMENT DE LA HAUTEUR DU SUPPORT DE MATELAS"

CETTE ETAPE EXIGE : Ce matériel est inclus dans le LIT D'ENFANT.
E. Clé Allen (2 piéces)

K. Boulon Allen 1” (25mm) (4 piéces) L. Ecrou 3/4" (20mm) (4 piéces)

IR {

FIG.3.

Position
la plus basse

- Retirez le boulon Allen 1" (25 mm) (K) et I'écrou 3/4 " (20 mm) (L) du ressort du matelas
- Déplacez le ressort du matelas a la position la plus basse comme indiqué sur la FIG.2.

- Fixez le boulon Allen 1" (25 mm) (K) et I'écrou 3/4" (20 mm) (L) sur le trou le
plus bas du panneau latéral.

{osition finale comme indiqué sur la FIG.3. /

90-22295-V-02 4 sur5



Tony Chen
Typewritten text
90-22295-V-02

Tony Chen
Typewritten text
4 sur 5


ETAPE 3 "MONTAGE DU GARDE-CORPS"

CETTE ETAPE EXIGE :
E. Clé Allen (2 piéces)

W(B) Boulon Allen 2" (50mm) (4 pieces) (D) Ecrou 3/4" (20mm) (4 piéces)

R {

(C) Rondelle a ressort (4 pieces)

m
p

ETAPE 3

ETAPE 3

buffet du berceau et du garde-corps et connectez avec I'écrou 3/4" (20 mm) (D).

.

Serrez tous les boulons et écrous avec la clé Allen (E). Le montage est terminé. Je vous remercie !

- Insérez le boulon Allen 2 " (50 mm) (B) et la rondelle a ressort (C) dans les trous supérieur et inférieur du

/

90-22295-V-02 S5sur5


Tony Chen
Typewritten text
90-22295-V-02

Tony Chen
Typewritten text
5 sur 5


A "MISE EN GARDE: TOUT MATELAS UTILISE AVEC

CE LIT DE BEBE DOIT MESURER AU MOINS 27 - 1/4
POUCES ( 69 CM ) PAR 51 - 5/8 POUCES ( 131 CM )

AVEC UNE EPAISSEUR QUI NE DEPASSE PAS 6
POUCES ( 15 CM ). LES DIMENSIONS DU MATELAS

DOIVENT ETRE PRISES D'UNE COUTURE A L'AUTRE OU
DE CONTOUR A L'AUTRE LORSQUE NECESSAIRE."

A MISE EN GARDE !

DESTINE A L'USAGE DANS DES LITS D'ENFANTS EN AGE DE MARCHER

« LISEZ TOUTES LES INSTRUCTIONS AVANT D'ASSEMBLER LE LIT DE BEBE. CONSERVEZ CES INSTRUCTIONS EN CAS
DE BESOIN.

« LE NON-RESPECT DE CES AVERTISSEMENTS ET DE CES INSTRUCTIONS D'ASSEMBLAGE PEUT ENTRAINER DES
BLESSURES GRAVES OU LA MORT.

« L'AGE MINIMUM DE L'UTILISATEUR NE DOIT PAS ETRE INFERIEUR A 15 MOIS ET SON POIDS MAXIMAL NE DOIT PAS
DEPASSER 50 LB (22,7 KG).

« LA BARRIERE DE LIT (VENDUE SEPAREMENT) DOIT ETRE UTILISEE QUAND LA BERCEUSE SERT A UN ENFANT QUI
COMMENCE A MARCHER, DE MANIERE A EVITER LA FORMATION D'UN ESPACE ENTRE LE MATELAS ET LE LIT, QUI
POURRAIT SE TRANSFORMER EN PIEGE.

« NE POSITIONNEZ PAS LE LIT DE BEBE PRES D'UNE FENETRE OU LES CORDES DES STORES OU DES RIDEAUX

PEUVENT ETRANGLER L'ENFANT.
* NE METTEZ PAS D'OBJETS AVEC UNE CORDE OU UN RUBAN AUTOUR DU COU DE VOTRE ENFANT TEL QUE LA CORDE
D'UN CAPUCHON OU D'UNE SUCE.

« NE SUSPENDEZ PAS DE CORDES AU-DESSUS DU LIT DE BEBE POUR QUELQUE RAISON QUE SE SOIT.
« LORSQUE VOUS RANGEZ LE LIT DE BEBE, FAITES ATTENTION PUISQUE DES CHANGEMENTS EXTREMES DE
TEMPERATURE OU DE TAUX D'HUMIDITE, PEUVENT COMPROMETTRE LE LIT DE BEBE ET LE RENDRE EXTREMEMENT

DANGEUREUX POUR VOTRE ENFANT. RANGEZ LE LIT DE BEBE DANS UNE ENDROIT PROPRE ET SEC.
+ SOYEZ PRUDENT LORSQUE VOUS UTILISEZ UN VAPORISATEUR OU UN HUMIDIFICATEUR. DIRIGEZ TOUJOURS LA

VAPEUR DANS UNE AUTRE DIRECTION QUE CELLE DU LIT DE BEBE OU TOUT AUTRE MEUBLE EN BOIS. DES PERIODES
PROLONGEES D'EXPOSITION A L'HUMIDITE LORSQUE RANGE OU UTILISE A LA MAISON, PEUVENT COMPROMETTRE LE
LIT DE BEBE.

« EVITEZ D'UTILISER DES VAPORISATEURS OU DES HUMIDIFICATEURS PENDANT DE LONGUES PERIODES DE TEMPS.

« VEUILLEZ JETEZ A LA POUBELLE TOUS LES EMBALLAGES ET LES SACS DE PLASTIQUE.

« VEUILLEZ NETTOYER LE LIT DE BEBE AVEC UN LINGE SEC ET UTILISEZ UN PRODUIT A POLIR DOUX SI NECESSAIRE.

« EVITER LES BRULURES. MAINTENIR LE LIT A L'ECART DU FEU ET DES AUTRES SOURCES DE CHALEUR.

+ AVANT CHAQUE UTILISATION OU AVANT D'ASSEMBLER, FAITES UNE INSPECTION DU LIT DE BEBE AFIN DE DETECTER
DES BRIS DE MATERIAUX, DES VIS DEVISSEES, DES PIECES MANQUANTES OU BRISEES ET DES CONTOURS
TRANCHANTS. NE VOUS SERVEZ PAS DE CE LIT DE BEBE S| DES PIECES SONT MANQUANTES OU BRISEES. DEMANDEZ
A VOTRE MARCHANT OU ECRIVEZ A M DESIGN VILLAGE, 701 COTTONTAIL LANE, SOMERSET, NEW JERSEY 08873.

TELEPHONE: 1-844 - 247 - 5908, COURRIEL : INFO@MDESIGNVILLAGE.COM POUR OBTENIR DES PIECES DE
REMPLACEMENT ET DES MANUELS D'INSTRUCTIONS SI VOUS EN AVEZ BESOIN. NE FAITES PAS DE REMPLACEMENT

DE PIECES.




A MISE EN GARDE : RISQUE DE PIEGEAGE /
D’ETRANGLEMENT

» DES ENFANTS EN AGE DE MARCHER SONT MORTS AU LIT DES SUITES DE PIEGEAGE ET D'ETRANGLEMENT.
* LE NON-RESPECT DE CES AVERTISSEMENTS ET DES INSTRUCTIONS DE MONTAGE POURRAIT PROVOQUER
DE GRAVES BLESSURES, OU LA MORT.

* NE JAMAIS UTILISER LE LIT AVEC DES ENFANTS DE MOINS DE 15 MOIS.

« NE JAMAIS PLACER LE LIT PRES DE FENETRES, OU DES CORDONS DE STORES OU DE RIDEAUX
POURRAIENT ETRANGLER UN ENFANT.

A MISE EN GARDE

ILY A DES NOURRISSONS QUI SONT MORTS DANS DES LITS DE BEBE SUITE A UN PIEGEAGE.

« LES ESPACES ENTRE LES DIFFERENTES PARTIES DU LIT PEUVENT PIEGER LA TETE ET LE
COU D'ENFANTS EN BAS AGE.

 NE JAMAIS UTILISER LE LIT SI L'ENFANT A MOPINS DE 15 MOIS.

« TOUJOURS UTILISER DES MATELAS DE GRANDE TAILLE, AUX DIMENSIONS
RECOMMANDEES.

» TOUJOURS SUIVRE LES INSTRUCTIONS D'ASSEMBLAGE.

A MISE EN GARDE

RISQUE D'ETRANGLEMENT
» NE JAMAIS PLACER LE LIT PRES DE FENETRES, OU DES CORDONS DE STORES OU DE

RIDEAUX POURRAIENT ETRANGLER UN ENFANT.

* NE JAMAIS SUSPENDRE DE CORDES AU-DESSUS DU LIT.

* NE JAMAIS METTRE D'OBJETS AVEC UNE CORDE OU UN RUBAN AUTOUR DU COU DE
VOTRE ENFANT TEL QUE LA CORDE D'UN CAPUCHON OU D'UNE SUCE. CES OBJETS PEUVENT
S'ACCROCHER SUR LES DIFFERENTES PARTIES DU LIT.




	22295-GR- English2
	22295-GR- English3
	22295-GR- English4
	22295-GR- English5
	22295-GR- English6
	22295-GR- English7
	22295-GR- Spanish2
	22295-GR- Spanish3
	22295-GR- Spanish4
	22295-GR- Spanish5
	22295-GR- Spanish6
	22295-GR- Spanish7

